L ENCE:

Za: Mol DE(LBTIYF/AYPLLA2L)
Sel: EEX0 ANES X (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
EENEE 2,254, 105 2,055,033 199,072
HuolE PE(YVTIUF/YYULI D) 1,975,101 1,784,568 190,513
SEXQ JANYE X 1,975,101 1,784,588 190,513
o352y 117,800 113,600 4,200
201 Yur2Hl 32,000 32,000 0
02 ZZ2Y| 32,000 3,000 0
=0 &t 32,000 32,000 0
O=slo% @M ALY ST
1,000,0008! * 128 12,000
O=&AS3 SHOIX R 2e
7,000, 0008 *14] 7,000
OB YUY YM8= HE U S=
11,000, 0002 * 14! 11,000
OBEEH RX 22| 2,000,000 *14] 2,000
202 Oft 80,800 76,600 4,200
01 2UHoiYl 21,300 21,600 A300
=0 & 21,300 21,600 £300
OoUBESNE SO
60,0002 *5% ¥52 #123] 18,000
ON4YAE BSXH BZOY
60,0008 *5% «113] 3,300
03 2ol 0yl 49,500 45,000 4,500
=0 & 49,500 45,000 4,500
Ol 229 i 4+
,300,0002! *3 +53| 49,500
04 = I5Hoi bl 10,000 10,000 0
=0 4t 10,000 10,000 0
ONZE? Xgrolsl AT dHeleis
5,000,000 *2% 10,000
203 YREAY 5,000 5,000 0
03 AMETYLEZY 5,000 5,000 0
=0 & 5,000 5,000 0
Oolsl2gol e ALEH
5,000, 0008 *14] 5,000
EEEEPIPY 239,360 65,000 174,360
401 NEH L2 239,360 65,000 174,360
01 Al&HI 239,360 65,000 174,360
= 0 4 239,360 65,000 174,360
O=slo% @I A2Y 75
239,360, 0002 * 14! 239,360
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SN

CEPYEE
HE: dols PE(ULSD

&9 aEN0 NEE | GO
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
O FHAMA K& 28,325 28,400 AT
201 LBt 49| 26,000 26,000 0
01 At 2eltl 2,000 2,000 0
= 0ff &F 2,000 2,000 0
O ger=2Y| 2,000
— LA ESEA B2 HE 100,000& »103| 1,000
—dANE 32 E =Y 250,000 *43] 1,000
03 A2 24,000 24,000 0
= 0l & 24,000 24,000 0
Od A2 3l 24,000
—&&AN2S ABI US MU SA
Bkl 4,000,000 «65 = 24,000
301 et aZF 2,125 2,200 AT5
09 YALAHIEAZ 1,125 1,200 ATH
= 0l & 1,125 1,200 AT5
OMEX HIDAS S AAFA alH|
125,000 »3% 33| 1,125
12 JIEt2 &3 1,000 1,000 0
= 0l & 1,000 1,000 0
Ooalz2rol Ad Xl =4l 500,000 «2H 1,000
303 EZAZ 200 200 0
01 ZA&Z 200 200 0
= 0ff &F 200 200 0
O9% S3&J =& 100,000& 2 200
oFyas K& 1,589,616 1,577,588 12,028
201 LBt 49| 180,522 152,192 28,330
01 At 2eltl 154,394 126,064 28,330
= 0ff & 154,394 126,064 28,330
Oger=gH| 60,474
— MRS ZEH 220,000& 24X 5,280
—o3A+E 15,000& *100& 13| 1,500
—o/& YRLX 50,000& 302 »23| 3,000
— g 1,000, 0003 *14] 1,000
— ol = O HMZE 28,0003 «60F 1,680
—BANYE a2 2 4w
50,000 x103| x12& 6,000
— MR TEEH EHTY
250,000 *5CH 63 7,500
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L ENCE:

Za: Mol DE(LBTIYF/AYPLLA2L)
Sel: EEX0 ANES X (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
—oz¥Es N LYTHTY
26,5002 *602 1,590
—slo= o 50,0008 #1005 %13] 5,000
— OB AMK 22 50008 +1,0005 %43 20,000
—oFES NY #ZLSH B2 DL
M A S 200,000 *2 *123] 4,800
~2EBINY 32 SHOHA 23
22,0002 2L} *163] 704
~UR2A SASK 2Y
22,0002 #2258} A %53 2,420
OJl=ge =X s S2 KAyl
8,0002 +8Z * 104! *122 7,680
OFR42 9% 0l0INES L B2 B2
330,000 *603] 19,800
O3 29 22 X2 M
22,000,000 *14! 22,000
OYAE L H3l 4o o2 N2E M=
24,0002 ¥50%2 +63] 7,200
OCIBANT BAUSHE 2Y4Y
100, 000! *38 53| 1,500
OoBES =52Y AVGIE 7Y
160, 0002 *57H 800
ORSIIZ 9 NADS FHH
400,0008 %158 6,000
ONYoH BES F2AX 25
60,0002 +24% +13] 1,440
Osg s Fy| 500, 0002 %674 £ 3,000
Ool® WX M= 1,500,000 *14} 1,500
ool Yet M 750,0008 %25 +23] 3,000
OMFEXN 2 WX M 9,0002 %3005 2,700
Oclsley s=2ENN 3,000, 0008 *33] 9,000
Ool3l oty 21Z3 M= 1,250 «2,0000H 2,500
Ool3l 2@t €7 oA 22t
28,0002 * 100 2,800
Ogs, d2 @NAIY N8R
250,000% * 128 3,000
02 Bz2YH 26, 128 26,128 0
= 0l & 26, 128 26, 128 0
OA& = S 8,843
- =230 B L SAFH KAL)
2,648, 0002 *14] 2,648
—HBESABY U RN 1,048
Cxg= 300, 000! *28H +0. 04 336
24 0t012  1,000,000% +7CH+0.04 280
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M 2AIMS

o d ol ?i( UBZTHE /LYY HZ2)
I:}ol: §_§x-|o| OPS'%’% I|'°.:J (9% ;"%
- - Ofl &K & T 0l AF A =
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) Hns2
- 32198 Otol3a 300,000& =360 +0.04 432
— 23o% SESEH ME (HXMH L
Mg 1,507,000& 14 1,507
— A L A3 LSEY MA
(HXHAHA L A &) 000,000 *4IH 2 +0.03 2,040
— AU R3] (3 A) CCTV KA 22
400, 0003 *4CH 1,600
OH L HHIRAE S 2,500,000& =14l 2,500
Oxg sl 14,785
—oNE HENY FEH
500,000 »2CH » 12,000
—oME 2EXE FH X A2SH
2,785,000 » 14! 2,785
203 YR =& 4,000 4,000 0
03 AHMF=ANHRFAH| 4,000 4,000 0
= Off & 4,000 4,000 0
Og&EE =8 & Nd gRF3H
4,000, 000& 14 4,000
205 23yl 1,311,494 1,290,233 21,261
01 &&=l 316,800 316,800 0
= 0fl & 316,800 316,800 0
Oo&dgsA2EH 316,800
— S| E &=t 900,000 x24H x12& 259,200
— X8zl 200,000 x24H x12& 57,600
02 &8¢ 513,680 513,680 0
= 0fl &F 513,680 513,680 0
o9& 2384 1,783,6102 x24H 123 513,680
03 220 30,000 30,000 0
= Ofl &F 30,000 30,000 0
O =0l 30,000,000 =14l 30,000
04 23220l 99,840 99,840 0
= 0fl &F 99,840 99,840 0
O =20l 99,840
— 9% B 2+ 3,200,000 x24H 76,800
— =2 SAHA, DM, HHESH F
& 76,800,000 *30% 23,040
05 E=2HES&EH 164,808 164,808 0
= Off & 164,808 164,808 0
O3egs+d =53l 164,808
—3s&Hl 6,492,000& x24H 155,808
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SN

O|3AIR =

Za: Mol DE(LBTIYF/AYPLLA2L)
Sel: EEX0 ANES X (B9 @2
x s . Of &t o8 & & 0 A o -
N-Z3H .22 (3H) - MRAY - BES (Z= o) (713 o) Hns2
—GMZASHEAAS 1,000,008 x9 9,000
06 oE2YALEHY| 107,240 107,240 0
= 0 &t 107,240 107,240 0
CEEE-EEES Y 107,240
—ox 3,080, 0002 * 122 36,960
o EE 1,480,000 * 122 17,760
— Ny 1,010,000 42 » 122 48,480
—HAMEASHEARY
1,010,000 +12 x43] 4,040
07 HAZNHLH(BBAL, HHDS) 12,000 12,000 0
=0 & 12,000 12,000 0
SEE =TS 250,000 x242 *23] 12,000
ECEEESECEIEES 19,200 0 19,200
=0 & 19,200 0 19,200
SEERET SN 800,000% x24% 19,200
09 BEANLLD 7,600 6,000 1,600
=0 & 7,600 6,000 1,600
OX= BN 23 7,600
—®2 YFHH R
7,600,0008 #13] 7,600
10 da=od3ee3z 23,116 23,116 0
=0 & 23,116 23,116 0
OO0l 23 23 513,679,680 +4.5% 23,116
IRCEEEEEE Y= 17,210 16,749 461
=0 & 17,210 16,749 461
Oolg ALY 23
513,679,680%! 3. 12% 16,027
Ool® BIYRE 2L
16,026,810 *7.38% 1,183
304 BRYBES 57,600 57,600 0
03 oANHRLD 57,600 57,600 0
=0 & 57,600 57,600 0
SEEPLET-T 57,600
— X2 QE MHMAR  1,800,0008 x2Y 3,600
— N2 o 2N
1,500,002+ 128 *1% 18,000
— N2 A ATBYD
1,500,002 248 *1% 36,000
401 ANSHILROHY 10,000 10,000 0
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2N 2BAS
s dnos na EREET- NPT
Sel: EEX0 ANES X (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
01 Al&H] 10,000 10,000
= 0 4 10,000 10,000 0
003l AEHUEN NAY s 2
KB 10,000,0002 *14] 10,000
405 XrarE Sl 26,000 63,563 A37,563
0 RMUSEHSH 18,000 55,563 A37,563
= 0 4t 18,000 55,563 A37,563
O=% I nA 18,000
— 9% S =% Al B 60,0002 *30H 18,000
02 TATLYI 8,000 8,000 0
= 0 4 8,000 8,000 0
Ool® oigg 2NX 2
20,0002 155 3,000
OARN2A TH 7L 20,0002 *25% 5,000
H 2 YA (S AMRR)(IIEHIIE) 279,004 270,445 8,559
oz 2yl 85,276 86,426 A1, 150
ol 2l 85,276 86,426 A1, 150
101 oIl 85,276 86,426 A1, 150
01 =+ 85,276 86,426 A1, 150
= 0 & 85,276 86,426 A1, 150
SNE LR
10,2998 *23% *30Al 2t + 122 85,276
o= 193,728 184,019 9,709
o= 2l 193,728 184,019 9,709
201 et gl 118,348 108,639 9,709
01 At el 95,089 85,377 9,712
=0 4 95,089 85,377 9,712
ogur=gH| 75,049
— AR 29 BE 28U
700,0002 * 128 8,400
— = MRS B 80,5002 x25% 2,013
— =A% ZRH EU
250,0008 *504 *63] 7,500
—9exA =SASK 2Y
23,0002 x225} A %63 3,036
—olsge el BHE B8 2Y
250,000 *62! *122 18,000
—=#ASE YA M 20,0008 x2005 4,000
—zEoF o 33,0002 1002 3,300
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RHEENCE:
Ha: HHSAAY (B AR R)(IIEH/IIE)

¢ JI23sl cet®M
x 5 - Ofl &k o4 X o 0fl Ak o -
SN ZH - (3H) - HRAY - BE2 (Z= o) (913 o1) s
— HEHAMP2ZA HTHME 15,0002 1005 1,500
— AEIoIS E 200,000& =128 2,400
—¢dE 8N A== 3,000,000& »43| 12,000
—AIRE s/ 2 150,000& 1Z 104 1,500
— 22 I 7Y ¢ d
5,000,000& =14 5,000
—HUARE LHAFY X ANE
5,000 x 14001 x23] 1,400
—dADD] ARE FY 500,000& x103] 5,000
O<I &=l 2,000
— B2 us ¢ AH RES
400,000& +5YH 2,000
Oo2gd=¢ 3,600
—22IAd+ dMARE =
100,000 »6H »63l 3,600
OJ=2ge =g /8 §2 =4l
8,000 x10A! x14H 123 13,440
O2Lgsl L A =X g ARz
500,000& *23| 1,000
02 2329l 23,259 23,262
= 0fl & 23,259 23,262
O=32= % HA 9,984
—RUE L5522 3,484
=Pl 2,130&*x120=5+128 3,068
et 330&x105=+12& 416
—odE 2T EE=Z 650,000 *2CH 1,300
—oNE 2EXY ANSIHA
400, 0003 20H 23] 1,600
—dUAYS AQHUANER
300,000& »12& 3,600
OAZEHl |l 13,275
— 9|3 MAFH SX22l 285,000 «150H 4,275
—SAD L ZEH((®A) RA2E
250,000 +7CH 43 7,000
—dALAR2 =878 2,000,000 14 2,000
202 04| 60,000 60,000
01 LAY 60,000 60,000
= 0fl & 60,000 60,000
OJI2gs =™8s /8 Z2UHEE ol
20,000 x25F 10 x12& 60,000
203 YR =T 15,380 15,380
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SN

O|3AIR =

M. HESHBHI (AT AR =2)(IIEH/DIE
Ce: I3l (e &
SNBSS (BH) - MEAY - B2 o @(ijf;lﬁ% HRE2
01 JI22ILR=AH| 3,900 3,900
= 0l & 3,900 3,900 0
O AIR=2E 3,900,000& x1H 3,900
02 HEIAHR2=XH| 2,480 2,480 0
= 0l & 2,480 2,480 0
OXIANMESHAI S AIIXE 80,0003 *x31H 2,480
04 EA2IERF=AH| 9,000 9,000 0
= 0l & 9,000 9,000 0
OFAN2YE 2238H| 9,000
— QI3 AR = 350,000& «12& 4,200
— HAEXX &3 100, 000& =128 1,200
— SN J S 100,000& =128 1,200
— SAIAERRG 100,000& =128 1,200
—2gAJF 100, 000& =128 1,200
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